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STATISTICS
( General )

Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

UNIT—1

CoA—>

1. Answer the following as directed : 1x10=10
oo RN TP Tes fon

(a) State the relation between Statistic
and Parameter in case of unbi-
asedness.

TAROR CFae AfSTE e A6AR A&
oo Brad 90|

(b) Define chance causes of variation

HAONNS IR OESYS A Fan
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(2)

(¢ In SQC, CL stands for ]
SQCS CL T

(i) Central Line
@I @

(i) Control Limit ' (9)

g S

(iii) Counted Line
UECINC|

(Choose the correct option)

(= Seo1 IR Sferean)

(h

(d) State the vvalidity of the following
statement :

wo1q SRECBIR ool AR 3491 :

+145-8E is a real constant.
+145- 8E b IR} &3 |

()

(e} Consumer’s risk is referred to as
error.

ST R ____ T @ |
 (Fill in the blank)
(1 3% *Ret 1)
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(3)

Sample mean is estimator of

population mean.
afferd Ty R MR ____ 7w |
(Fill in the blank)
(AL 31 =R 30)
Pareto diagram is used in SQC.
(ReG1 B SQCS IRYI T A |
(Write True or False)
(=751 @ g fo=)

Write FORTRAN expressions
equivalent to the following mathe-
matical expression :

VX2 /y+2)
VX2 /y+2) -3 FORTRAN Wgey M
o

Obtain the final value of K in the
following program :

A=3-1+2+¢4-6
A=2%A+4
K=A

SO (ARIATCETS K-F For T A 341 :
A=3-142+4.6
A=2*xA+4
K=A
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(4)

() All OLS estimators are linear
estimators.

JFE OLS FaF (IRT AT |

(Write True or False)
(o1 1 fy o)

2. Answer the following questions in brief :
2x5=10

ToR AR 5 Teg fae
{a) What is scalar variable?
FAm v WA 2

(b) Give two situations in which C-charts
are used.

C-fba T @ o1 RARR e 34 |
(c) Define eﬁ'lciehcy.

TFOR e o |
(d) What is linear regression model?

(e sPmeme =il Wi & o

e/ What do you mean by quality of a
product?

Tenfres TR @ o R gm0

( Continued )

3.
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(5)

UNIT—2
Csib—

Answer any four of the following

questions : 5x4=20

woiq R i wifkb op Bes fori -

(a) What is econometrics? Mention its
three limitations.

Sffife wiw & g TR R Rarmer
TrEy 4 |

(b) Give the reason for using 36 limits in
control charts of SQC.

sQcy Rega foge 36 TIR I FCF

e o |

(c) Write briefly on software and
hardware of a computer.

FPCORY  software WF hardware-3
s vt forn

(d) If T is an unbiased estimator of 6,
show that T2 is a biased estimator
of 62.

I T 6-3 TSl R , (S8 (Y&l
@ T2 62-3 ool =13 |
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(6)

(e) Describe the construction of control
charts for mean and range from
appropriate data when standards are
given and standards are not given.

Y% T4/ [l T (standard) fn o
ffm wwwe N WF RY FEga-foa
A (T IR, AN F

UNIT—3
csiB—o
4. Answer any four of the following
questions : 10x4=40
T R e SRt 2pR Tew fo

(@) From a sample of 20 pairs of obser-
vations of X and Y, the following
results were obtained :

X T Y 20 @@ 98 IWI S7o ful
SYPER IR ] 7
£X =228, Y =3121, (X - X)(Y -Y) =38927,
(X - X)? =3204 and Z(Y -Y)? = 9837
(i) Obtain the two lines of regression.
qO SRS I e 30
(i) Find the value of Y for X =20.
M X =20 7, (@ Y-3 IH a1
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(b)

(c)

(d)

8A/806

(7)

Define sufficiency. If x,, Xo,eee Xy
are random sample with p.d.f.
fle,8)=e*® fgcxco, ~o<h< oo,
then obtain sufficient statistic for 6.
sfiger e frar | Aficg, I «Afemf
Xy, X, -+ %p ¥ pdf, flx, @=e1x0)
B<x<o, —0<B<e, (B 6-F *fiere
aifrd fRefa <1 1

Explain what you mean by statistical
quality control. Distinguish between
process and product control.
ARIRRIP @ faga IR & @,

T | T 2R Rt o Seenfiie <
FER e PR T =

Write four rules to be followed in
writing Do Loops. Write a program
that reads an integer N and prints the
sum of the following :

Do Loop R sage “iew R siker

R Sy 1 1 e v SR wE oo

CREPTR. 2P 1 4397 O1 CATCe oy
1+2+3+4+.-.+ N
12422432442 4...4 N2
13423433443 4...4 N3
2+4+6+8+---+2N
1+3+5+7+---+2N -1
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(8)

(e} State and prove sufficient conditions
for consistency.

FeoffeR AT /Y SRER TEIR Sy FR
21 1 1

() Explain AOV in econometrics.
weRifss AOV 0 T 1

* %k *
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